
NRJ/KW/17/6898
Bachelor of Arts (B.A.) Part-II Third Semester Examination

ECONOMICS (MICRO ECONOMICS THEORY—I)

(Optional)

Time : Three Hours] [Maximum Marks : 80

N.B. :— (1) Attempt ALL questions.

(2) All questions carry equal marks.

(3) Draw neat diagrams wherever necessary.

1. (a) Define Micro and Macro Economics. Discuss the transition from Micro Economics to
Macro Economics.

OR

(b) Explain the types of circular flow model of economic activities.

(c) Explain the importance of circular flow of National Income.

2. (a) Define Money. Explain the various functions of Money.

OR

(b) Critically examine Quantity Theory of Money.

(c) Distinguish between Inflation and Deflation.

3. Answer the following questions in short (any FOUR ) :

(a) What is National Income and how is it ascertained ?

(b) Write notes on :

(i) Intermediate goods

(ii) Disposable income.

(c) What are the methods for measuring National Income in India ?

(d) State the importance of National Income.

(e) Explain the following concepts :

(i) Gross Investment

(ii) Per Capita Income.

(f) Explain the difficulties for measuring National Income.

4. Answer the following questions in short (any FOUR ) :

(a) Define effective demand. How is it determined ?

(b) Explain the relationship between marginal propensity to consume and average propensity
to consume.

(c) Explain the limitation of multiplier.

(d) Explain the factors determining marginal efficiency of capital in short-run.

(e) Explain the concept of Autonomous Investment.

(f) Explain Keynes’ objection to the Classical Theory of Say’s Law of Market.
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5. Choose correct option for following multiple choice objective questions (All Compulsory) :

(1) How Micro and Macro Economics studies are related with each other ?

(a) Opposite (b) Complementary

(c) Competitive (d) Conflictive

(2) In the circular flow you would expect leakages to ______ injections.

(a) Equal (b) Less than

(c) Be greater than (d) Be less or greater than

(3) In India, National Income is estimated by :

(a) Planning Commission (b) Central Statistical Organisation

(c) Finance Commission (d) None of the above

(4) Which of the following is not included while calculating national income ?

(a) Rent (b) Undistributed Profit

(c) Pensions (d) Imputed Rent

(5) Which type of currency is cheque ?

(a) Paper currency (b) Metallic currency

(c) Credit currency (d) None of these

(6) Which type of budget is prepared at the time of Money deflation ?

(a) Balance Budget (b) Surplus Budget

(c) Deficit Budget (d) None of these

(7) “Every supply, creates its own demand”, which economists have this opinion ?

(a) R.F. Kahan (b) J.B. Say

(c) K. Kurihara (d) None of these

(8) Which economist has, put forward the concept of investment multiplier firstly in 1931 ?

(a) Lord Keynes’ (b) R.F. Kahan

(c) J.R. Hicks (d) None of these
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¼ejkBh ekè;e½
1. (v) lw{e vFkZ’kkL= vkf.k LFkwy vFkZ’kkL=kph O;k[;k |k- lw{e vFkZ’kkL=kiklwu LFkwy vFkZ’kkL=ki;±rP;k

laØe.kkph ppkZ djk-

fdaok

(c) vkfFkZd xfrfo/khP;k pØkdkj izokgkP;k izk:ikaps izdkj Li"V djk-

(d) jk"Vªh; mRiUukP;k pØkdkj izokgkps egRo Li"V djk-

2. (v) eqnzsph O;k[;k |k- eqnzsph fofo/k dk;sZ Li"V djk-

fdaok

(c) eqnzk ifjek.k fl)karkps VhdkRed ijh{k.k djk-

(d) eqnzk LQhrh vkf.k vLQhrh ;krhy Qjd n’kZok-

3. [kkyhy iz’ukaps laf{kIr mÙkjs fygk (dks.krsgh pkj) :

(v) jk"Vªh; mRiUu Eg.kts dk; \ rs dks.kR;k izdkjs vuqekfur dsys tkrs \

(c) fVik fygk %

(i) e/;orhZ oLrw

(ii) O;;{ke mRiUu-

(d) Hkkjrkr jk"Vªh; mRiUu ekst.;kP;k i)rh dks.kR;k \

(M) jk"Vªh; mRiUukps egRo fo’kn djk-

(b) [kkyhy ladYiuk Li"V djk %

(i) ldy xaqro.kwd

(ii) njMksbZ mRiUu-

(Q) jk"Vªh; mRiUu ekiukP;k vMp.kh Li"V djk-

4. [kkyhy iz’ukaph laf{kIr mÙkjs |k (dks.krsgh pkj) :

(v) izHkkoh ekx.khph O;k[;k |k- izHkkoh ekx.kh d’kh fu/kkZfjr gksrs \

(c) lhekar miHkksx izo‘Ùkh vkf.k ljkljh miHkksx izo‘Ùkh ;krhy laca/k Li"V djk-

(d) xq.kdkP;k e;kZnk Li"V djk-

(M) HkkaMoykph lhekar ykHk{kerk fu/kkZfjr dj.kkjs vYidkyhu ?kVd Li"V djk-

(b) Lok;Ùk xaqro.kqdhph ladYiuk Li"V djk-

(Q) ts-ch- ls P;k cktkjfo"k;d fl)karkoj dsUlP;k vk{ksikaps Li"Vhdj.k djk-
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5. [kkyhy cgqi;kZ;h oLrqfu"B iz’ukaps ;ksX; i;kZ; fuoMk ¼loZ vfuok;Z½ :

(1) lw{e o LFkwy vFkZ’kkL=kpk vH;kl ijLijk’kh dlk fuxMhr vkgs \

(v) fojks/kh (c) iqjd

(d) Li/kkZ;qDr (M) la?k"kZ;qDr

(2) pØkdkj izokg var%&{ksikrhy xGR;k ______dj.;klkBh vki.kkl visf{kr vkgs-

(v) cjkscj (c) is{kk dehr deh

(d) is{kk tkLrhr tkLr (M) is’kk deh fdaok vf/kdkf/kd

(3) Hkkjrkr jk"Vªh; mRiUukps vuqeku ______ ;ka{kk}kjk dj.;kr ;srs-

(v) fu;kstu vk;ksx (c) dsafnz; lkaf[;dh la?kVu

(d) foÙk vk;ksx (M) ojhyiSdh dkghgh ukgh

(4) jk"Vªh; mRiUukph x.kuk djrkauk [kkyhyiSdh dk; lekfo"V gksr ukgh \

(v) HkkVd (c) vforjhr uQk

(d) fuo‘Ùkh osru (M) fnysys HkkVd

(5) /kukns’k dks.kR;k izdkjph eqnzk vkgs \

(v) i=eqnzk (c) /kkrqeqnzk

(d) izR;;eqnzk (M) ;kiSdh ukgh

(6) eqnzk vLQhrhP;k dkGkr dks.krs vankti=d r;kj dsys tkrs \

(v) larqfyr vankti=d (c) vkf/kD;kps vankti=d

(d) rqVhps vankti=d (M) ;kiSdh ukgh

(7) ßizR;sd iqjoBk vkiyh ekx.kh fuekZ.k djrksÞ] gs er dks.kR;k vFkZ’kkL=Kkaps vkgs \

(v) vkj-,Q- dgku (c) ts-ch- ls

(d) ds- dqfjgj (M) ;kiSdh ukgh

(8) xqaro.kwd xq.kdkph ladYiuk loZizFke 1931 e/;s dks.kR;k vFkZ’kkL=Kkaus ekaMyh vkgs \

(v) ykWMZ dsUl (c) vkj-,Q- dgku

(d) ts-vkj- fgDl (M) ;kiSdh ukgh
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1. (v) O;f"V vFkZ’kkL= rFkk lef"V vFkZ’kkL= dh ifjHkk"kk dhft;sA O;f"V vFkZ’kkL= ls lef"V vFkZ’kkL= rd
ds laØe.k dh ppkZ dhft;sA

vFkok

(c) vkfFkZd xfrfof/k ds pØh; izokg izk:i ds izdkj Li"V dhft;sA

(d) jk"Vªh; vk; ds pØh; izokg dk egRo Li"V dhft;sA

2. (v) eqnzk ¼pyu½ dh ifjHkk"kk nhft;sA pyu ds fofHkUu dk;Z Li"V dhft;sA

vFkok

(c) eqnzk ifjek.k fl)kar dk vkykspukRed ijh{k.k dhft;sA

(d) eqnzk LQhfr ,oa vLQhfr budk Hksn n’kkZb;sA

3. fuEu iz’uksa dks la{ksi esa gy dhft;s (dksbZ Hkh pkj) :

(v) jk"Vªh; vk; dk D;k vfHkizk; gS \ og fdl izdkj vuqekfur dh tkrh gS \

(c) fVIif.k;ka fyf[k;s %

(i) e/;orhZ oLrq

(ii) O;;{ke vk;A

(d) Hkkjr esa jk"Vªh; vk; dh x.kuk dh fof/k;ka dkSulh gSa \

(M) jk"Vªh; vk; dk egRo fo’kn dhft;sA

(b) fuEu ladYiukvksa dks Li"V dhft;s %

(i) ldy fuos’k

(ii) izfr O;fDr vk;A

(Q) jk"Vªh; vk; ekiu dh dfBukb;ka Li"V dhft;sA

4. fuEu iz’uksa dks la{ksi esa gy dhft;s (dksbZ Hkh pkj) :

(v) izHkkoh ekax dh ifjHkk"kk nhft;sA izHkkoh ekax dSls fu/kkZfjr gksrh gS \

(c) lhekar miHkksx izo‘fÙk ,oa vkSlr miHkksx izo‘fÙk budk laca/k Li"V dhft;sA

(d) xq.kd ds e;kZnkvksa dks Li"V dhft;sA

(M) iwath dh lhekar ykHk{kerk fu/kkZfjr djusokys vYidkyhu dkjd dks Li"V dhft;sA

(b) Lok;Ùk fuos’k dh ladYiuk Li"V dhft;sA

(Q) ts-ch- ls ds foi.kh ls lacaf/kr fl)kar ij dsUl dh vkykspuk Li"V dhft;sA
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5. fuEu cgqfodYih oLrqfu"B iz’uksa ds mfpr i;kZ; dk p;u dhft;s ¼lHkh vfuok;Z½ :

(1) O;f"V rFkk lef"V vFkZ’kkL= ds v/;;u dk laca/k dSls gS \

(v) fojks/kh (c) iwjd

(d) Li/kkZ;qDr (M) la?k"kZ;qDr

(2) pØh; izokg ds var%{ksi dh fjlko ______ djus ds fy;s vkidks visf{kr gSA

(v) cjkcj (c) ls de ls de

(d) ls T;knk T;knk (M) ls de ;k T;knk

(3) Hkkjr esa jk"Vªh; vk; dk vuqeku ______ buds }kjk fd;k tkrk gSA

(v) fu;kstu vk;ksx (c) dsanzh; lkaf[;dh laxBu

(d) foÙk vk;ksx (M) mijksDr esa ls dksbZ Hkh ugha

(4) jk"Vªh; vk; dh x.kuk djrs le; fuEu esa ls D;k lekfo"V ugha gksrk gS \

(v) HkkVd (c) vforjhr ykHk

(d) isU’ku (M) fn;k gqvk HkkVd

(5) /kukns’k dkSuls izdkj dk pyu gS \

(v) i=pyu (c) /kkrqpyu

(d) izrpyu (M) buesa ls dksbZ Hkh ugha

(6) eqnzk vLQhfr ds le; dkSulk vankti=d cuk;k tkrk gS \

(v) larqfyr vankti=d (c) vf/k’ks"k vankti=d

(d) ?kkVs dk vankti=d (M) buesa ls dksbZ Hkh ugha

(7) ßgj iwfrZ viuh ekax dk fuekZ.k djrh gSÞ ;g er dkSuls vFkZrK dk gS \

(v) vkj-,Q- dgku (c) ts-ch- ls

(d) ds- dqfjgj (M) buesa ls dksbZ Hkh ugha

(8) fuos’k xq.k dh ladYiuk lcls igys 1931 esa dkSuls vFkZ’kkL=K us j[kh gS \

(v) ykWMZ dsUl (c) vkj-,Q- dgku

(d) ts-vkj- fgDl (M) buesa ls dksbZ Hkh ugha


